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MATHEMATI CS

s. Write only the answer against the proper number of
uéstion and its part according to the question paper. (iii) Each
question carries 1 mark.
Q.1 Choose the correct answer for each from the given options:
(1) 3s X 35 =:
¥ 6 W 16 WG ey T
(2) In decimal system 110, is: .
- A O AN - A I - b b
(3) The median of 45, 36, 12, 45, 10, 16 and 32 is:
ot b caberat, R - AN (L -
(4) The rate of Zakat is: :
¥ 45% ¥ 50% W 52% W 2.5%
(5) The Cartesian products of sets A and B is written as:
* AR N AXBR  BXAR  B'A
(6) I is a Greek symbol which is called:
% Sigma¥ Theta® Pie % None of these
(7) A Ky R S o } is the set of:
% EvenNumbers %
-rfr Primu Numbers

9) The mnd " -
(10) rm of logs125 = 3 is:

T 3F=125
= 125 w 125° = 3
(11) 57X 10’
)1 570000 ¥  5.7000000
% 57000000 Y  5.700000

(12)  In the decimal number system, the base is:

N2 (- AL . 8§ wastll
(13) L+L+l,+1;=:

W 10, TREmo0 SN (1, X
(14) Iflogil0 = x , thenx = :

- R RRAD - 0T () SR, - T R R -
(15) 64 out of 80 is:

" 80% ® 50% W 60% W
(16) The formula of Arithmetic Mean is:

The. s Efx ) )
v R peitiong e
Unsolved IX-X Ten Years 56 ’
(17) 2“ X 5" e
Cﬁ@@@
(18) {j_ ,3
ﬁ' Red Index

~ None of these
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